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1-12: Graph each function with at least 5 points. Then state the vertex, axis of symmetry, and the
domain and range in interval notation.
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Axis of Symmetry: Xf-‘g Axis of Symmetry: X “‘O
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Domain: Domain: l "‘Q ,422 Domain: t "Q,O"z
Range: Range: E( [@) Range: ("'QQ) 5 i
4. y=(x-172 +2 5, y=-(x-2)*+ 7 6. y=3(x+4)>-5
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Vertex: L ) 7‘2 i Vertex: ( Zlq } Vertex: ( "&; "5 )
Axis of Symmetry: _._x__""._, l_ Axis of Symmetry: X-: L Axis of Symmetry: X 2 4

Domain: _@20" ) Domain: (", P ) P 2 Domain: (‘Q’ggz
Range: [—2 ) O° 2 Range: (" o0 ) ]—]- Range: E" 5 ’ ¥ )
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7. y=-3(x+D(x-1) 8. y=-(x—1(x+3)
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Vertex: ( O! %) Vertex: "‘ 4‘

Axis of Symmetry: 2§$ &2 Axis of Symmetry: _L:_‘_"_\_

Domain: “"Q Tiid ) Domain: CTQ 1@2

Range: (": Q;%, l Range: 4"@; Ek 3

10. y=-2x2—4x+7 X= :I:L:_,l 1. =%(x—3)(x+2)
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Vertex: (" Vertex: (;6 ;'b'llg)

Axis of Symmetry: x I Axis of Symmetry: X“ ° 5

Domain: Domain:
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y = 2(x = 2)(x = 6)
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Vertex: (j’_}_’ﬁ)

Axis of Symmetry: é—’. q’
Domain: (:—dp ) &2
Range: _Lb‘_Z)

2. y=-4x2+5 &Vﬁw
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Vertex: & | O ‘5 )

Axis of Symmetry: x = O
Domain: ( ""gQ g(E)
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Range: L"" Cﬁ!q ! Range: E"a \zgf 00) Range: L—CQ} 6,]

13-15: Write the equation of the square function that fits the given description.
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13. | have a vertical compression of %and my zeros are -2 and 5. ‘? (X) = 3 (’x +ZXK"5

14. My vertex is (-1, 8) and | reflect over the x—axis.

F)==(x+)7+ %
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15. My axis of symmetry is x = 4, my minimum y value is -10 '{;OQ = L\'CX""“D - \ O

and | have a vertical stretch of 4.
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